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Y1 orff &€/ RAILWAY RECRUITMENT BOARDS
# § v IR AR HY - o2/20¢: - CEN RRC - 01/2019

Test Date 30/08/2022

Test Time 5:00 PM - 6:30 PM
Subject Level 1

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark per Question.

1. Options shown in green color with a tick icon are correct.

2. Chosen option on the right of the question indicates the option selected by the candidate.
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518977604
75189730416
75189730414
75189730415
75189730413
Answered

1
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Q.2 A certain number of people are sitting in a row, facing north. Only P sits to the left of Q. Only three people sit between
T and R. Only three people sit between Q and R. S sits to the immediate right of R. P sits at one of the extreme ends of
the row. If no other person is sitting in the row, what is the total number of persons seated?

Ans X1 g
¥ 2 10
K39
K47
Question ID : 7518974922
Option 11D : 75189719686
Option 21D : 75189719688
Option 3 ID : 75189719687
Option 4 ID : 75189719685
Status : Answered
Chosen Option : 2
Q3 Find Compound Interest on 211,000 in 2 years at 4% p.a., interest compounded yearly.
Ans 1. 2897.60
< 2. 3906.50
< 3. 3786.60
< 4. IBT5.80
Question ID : 7518975620
Option 11D : 75189722479
Option 2 ID : 75189722477
Option 3 ID : 75189722478
Option 4 ID : 75189722480
Status : Answered
Chosen Option : 1
Q4 R sw weERer B ar Riedt & U WER aEe 3 T e Sl @ Seen?
4-10+8+3x2=6
Ans X1 x, -+
2 %X -
< 3. +’ x
X4 = =
Question ID : 7518977763
Option 1 ID : 75189731049
Option 2 ID : 75189731052
Option 3 ID : 75189731050
Option 4 ID : 75189731051
Status : Answered
Chosen Option : 2
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Q.5

Ans X 1.1465.552

121.12 X 0.121 =T AT AT HT=TI

+ 2. 14.65552
<3 146.5552
< 4. 1.465552
Question ID : 7518975806
Option 1 ID : 75189723224
Option 2 ID : 75189723223
Option 3 ID : 75189723221
Option 4 ID : 75189723222
Status : Answered
Chosen Option : 2
Q.6 - :
24 U & URT H FaT 4 I F T I 2T FeET?
Ans X1.14:45 T
X2 16:45 Tt
¥3.16:15 §=4
X4 14:15 st
Question ID : 7518976770
Option 1 ID : 75189727077
Option 2 ID : 75189727080
Option 3 ID : 75189727079
Option 4 ID : 75189727078
Status : Answered
Chosen Option : 3
Q.7 Workers from which of the following sectors produce goods which are NOT tertiary?
Ans 1. Sugar mill
# 2. Transportation
# 3. Banking
& 4. Communication
Question ID : 7518974057
Option 1 ID : 75189716225
Option 2 ID : 75189716227
Option 3 ID : 75189716226
Option 4 ID : 75189716228
Status : Answered

Chosen Option :

1
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Q.8

Ans

# 2. hydrogen

Aerobic respiration requires the presence of .

& 1. carbon dioxide

o 3. OXygen
# 4. nitrogen
Question ID : 7518974333
Option 11D : 75189717329
Option 2 ID : 75189717331
Option 3 ID : 75189717330
Option 4 ID : 75189717332
Status : Answered
Chosen Option : 3
Q.9 Ina science book, two solenoids, P and Q, of the same average radius and the same length are shown. The number of
field lines drawn inside Q is twice of that drawn inside P. If the number of turns in the two solenoids is the same, the
current in solenoid Pis __ times the current in solenoid Q.
Ans 1
x1 =
4
<22
K3 4
1
4 —
2
Question ID : 7518976730
Option 11D : 75189726917
Option 2 ID : 75189726919
Option 3 ID : 75189726920
Option 4 ID : 75189726918
Status : Answered
Chosen Option : 1
Q.10 22 srmat & sreETer AT AT B dES & T e A@5ew @ 9 a8 Fiw o o il fwar e
&2
Ans hd
« 1. AT HIH (Bhasha Sangam)
X 2. gfFerer 9 (ENGLISH PRO)
X 5. TeeT (SARATHI)
X4 3MEEYTHT (IEPFA)
Question ID : 7518974142
Option 1 ID : 75189716566
Option 2 ID : 75189716567
Option 3 ID : 75189716565
Option 4 ID : 75189716568
Status : Answered
Chosen Option : 3
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Q.11 zr roenfym Faer P 3R Q ¥ ©F & TAE W 9w OF F § 6% FEn 40 kmvh 3R 30 kmvh Fr
T F TH-gEL F AN T §1 I 7 o §, 79 ggel Yoendr gudr wend F geer # 80 km FUw

& @ X TH @ ¥ P 3t Q F 9= gf 7w Fifsw

Ans X1 630 km

<2 660 km
<3 240 km
+ 4 BB0 km
Question ID : 7518976091
Option 1 ID : 75189724362
Option 2 ID : 75189724363
Option 3 ID : 75189724364
Option 4 ID : 75189724361
Status : Answered
Chosen Option : 4
Q12 sfeew 3k s 715,000 # vF I F QT FA FOSH A B AT 3w 3 15 @ A W
THEATE, T AT W S B R A N T TR WET E, T 6 @ A W o
g1 @ w1 e wa A
Ans » 1 74,000
<2 7,000
X< 3. 26,000
< 425,000
Question ID : 7518976298
Option 11D : 75189725189
Option 2 ID : 75189725192
Option 3 ID : 75189725191
Option 4 ID : 75189725190
Status : Answered
Chosen Option : 1
Q13 37 Fear # 9u FIeT, S HEATET Al F wed fEd (?) F T WA
65, 90, 107, 116, 121, ?
Ans 1122
<2123
X3 124
x4.125
Question ID : 7518977725
Option 1 ID : 75189730897
Option 2 ID : 75189730898
Option 3 ID : 75189730899
Option 4 ID : 75189730900
Status : Answered

Chosen Option :

1
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Q14 Newlands compared his Octave with
Ans . 1. musical notes
# 2. computer language codes
# 3. Hindi rhymes

# 4. historical events

Question ID : 7518973504
Option 11D : 75189714014
Option 2 ID : 75189714015
Option 3 ID : 75189714016
Option 4 ID : 75189714013
Status : Answered
Chosen Option : 1
Q15 T aw 3T T AAEF HTEA FET, HY O T 9T F 3ew dferw e amt 7 & s
wEa, vw Rreafieaew # Rffes derat # amifea o & g g £
%
Mg
3 orEt # F= et € S Aoy il ey St F At §, Sfe afte & amifea a8 ¥
Ans ¢ 18
v 2 45
X3 63
<4 56
Question ID : 7518977617
Option 1 ID : 75189730465
Option 2 ID : 75189730467
Option 3 ID : 75189730466
Option 4 ID : 75189730468
Status : Answered
Chosen Option : 2
Q.16 Three wires, A, B and C, of the same length and the same thickness have resistances of 1 ©,0.5 Q and 0.25 Q,
respectively. Their resistivities are
Ans 1. inthe ratioof4:2: 1
X2 intheratioof 1 : 2: 4
/A3 inthe ratioof2 :4: 1
X< 4. equal
Question ID : 7518976679
Option 11D : 75189726713
Option 2 ID : 75189726714
Option 3 ID : 75189726715
Option 4 ID : 75189726716
Status : Answered
Chosen Option : 2
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Q17 37 vg 7 977 Hfew, S & 7 gEeT F 9o RES (?) F TUS W A @ H Alfehd T H
T8, N16, H32, B64, V1287

o

Ans X 1. P512
« 2. P256
<3 Q256
x4 P228
Question ID : 7518974973
Option 1 ID : 75189719892
Option 2 ID : 75189719890
Option 3 ID : 75189719889
Option 4 ID : 75189719891
Status : Answered
Chosen Option : 2
Q18 b & foFE U A & T T x% +bx + 9 =0 F HT AR &7
Ans ¢ 3
X2 4
V36
x4 2
Question ID : 7518976170
Option 11D : 75189724678
Option 2 ID : 75189724679
Option 3 ID : 75189724680
Option 4 ID : 75189724677
Status : Answered
Chosen Option : 3
Q.19
B el x2 —3x2 4+ 9x—12—x3 —7x2 —8x— 16
Ans X1 10x% +x — 28
X2 —10x*+x+28
X3 10x* —x—28
V4 —10x2+x —28
Question ID : 7518975910
Option 1 ID : 75189723639
Option 2 ID : 75189723638
Option 3 ID : 75189723637
Option 4 ID : 75189723640
Status : Answered
Chosen Option : 4
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O Srtatas wEfeT & 3o (P) & e &fFT

Al 9o (5)—» P + COy (g)
Ans 1. CaO (s)

x 2. Ca(OH), (1)

X 3. CaCOxy(s)

X+ CaO(s) + Oy(g)

Question ID :

Option 1 ID

7518973578

1 75189714309
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

75189714311
75189714310
75189714312
Answered

2

Q.21

Ans X 1. 2
X2 8
X3 6
s4 4

How many electrons are present in an L-Shell of a carbon atom?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
14

Chosen Option

7518973385
75189713537
75189713540
75189713539
75189713538
Answered
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Ans

Q.22 vw wua 3T 36F g & TEET Aakiied URONT | 3T 1| & 7§ wE St @ oue ¥ 98,

HR fviT & & Ry v F2a ga/ i H anons # AR Fear S W g7

Fua:

"IfE TH 3W TR ¥ 39 ¥ TEe T T THEER T A9 AF TR 5 &, o 89 39
Foaed 21 9 3OS AeF & O HfdeE fiee §=R1” - T D H U A s

Biranie

|. 9T D # FAER 99 &9faar =t 1 60| w7 37, At 30 9o i # T g ¥ FR
TFET A £

Il. 2T D # SIET ST Aew & THE 7Er F B

KoFa | AR A F ATAS T A e B
v 2 HIE | FT HFA FAAT A FHA g
X o FaS || FT HFA FIAT S FHAT ¢

X | AR FT AT AT ST T

Question ID : 7518976763
Option 11D : 75189727052

Option 2 ID : 75189727049
Option 3 ID : 75189727050
Option 4 ID : 75189727051
: Answered
Chosen Option : 1
Q.23 For what value of k do the pair of linear equations 2x + 3y — 1= 0 and 4x + ky + 2 = 0 have no solution?
Ans o1 5
X2 3
X3 4
¥4 6
Question ID : 7518976323
Option 1 ID : 75189725290
Option 2 ID : 75189725292
Option 3 ID : 75189725291
Option 4 ID : 75189725289
: Answered
Chosen Option : 4
Q.24 A forest area that belongs to private individuals and communities is classified as
Ans & 1. unclassed forest
X 2. protected forest
X 3. permanent forest
X 4. reserved forest
Question ID : 7518977255
Option 1 ID : 75189729019
Option 2 ID : 75189729018
Option 3 ID : 75189729020
Option 4 ID : 75189729017
: Answered
Chosen Option : 1
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Q.25 w% =T 7 v = F Fo 3R fRr § S v 7 210,500 1 Ry v 99 F & E i AR e

e W F e S aEar g1 3 s # & 6% IF 7 A 30 e spee #en aifa
(oifra & T ifeT)?

Ans 1. 310,069
v 2 %10,096
X 3. 311,069
X 4 11,096

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status

7518975868

75189723470
75189723472
75189723471
75189723469

: Not Answered
Chosen Option :

Q.26 zfy ereg COMPUTE # wsfr a12rl & aUTATeT &R & AR eoareud foar oo, ar fee st &1

Ty sfafds wehe

Ans o1 E—'fl?-l'
X2 U

X3 UH

X4.a-

Question ID : 7518977345
Option 1 ID : 75189729380
Option 2 ID : 75189729377
Option 3 ID : 75189729378
Option 4 ID : 75189729379
Status : Answered
Chosen Option : 3
Q.27 g Tfue # ufes Suva F Aean ¥ Bos Bew vF Fearr ged Rt wr wsw @
ST TSGR # TR R g2
Ans o 1. 29
X2 27
x3 21
X4 28
Question ID : 7518977284
Option 1 ID : 75189729135
Option 2 ID : 75189729136
Option 3 ID : 75189729133
Option 4 ID : 75189729134
Status : Not Answered

Chosen Option :
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Q.28 f¥e & @it oot F T=er TeE F v fre adm Afyer e Bergr & 2021 # 1CC afger
et 315 T 330 & TR § TFATS fohar 71am?

Ans o1 IIT FEAERT
v 2. TS A
X5 TH AGST
X4 e TS

Question ID : 7518976504
Option 11D : 75189726016
Option 2 ID : 75189726015
Option 3 ID : 75189726014
Option 4 ID : 75189726013
Status : Answered
Chosen Option : 2
Q.29 N
IfE 7, 12, 21 AR x FAREE A §, & x F A T S
Ans s 1. 36
X2 24
X3 27
<4 35
Question ID : 7518976269
Option 1 1D : 75189725076
Option 2 ID : 75189725075
Option 3 ID : 75189725073
Option 4 ID : 75189725074
Status : Answered
Chosen Option : 1
Q.30 ¢
fTefofee # & 59 @ #9g & 'Hdarar Fg S g2
Ans X1 A
X2 B
<3 AB
4 0
Question ID : 7518974446
Option 1 ID : 75189717781
Option 2 ID : 75189717782
Option 3 ID : 75189717783
Option 4 ID : 75189717784
Status : Answered
Chosen Option : 4
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Q.31 Inthe Union Budget 2022-23, a scheme named PM-DevINE launched to fund infrastructure and social development

projectsin__ India.
Ans X1 North-West
& 2. North
K 3. West
+ 4. North-East
Question ID : 7518976530
Option 1 ID : 75189726118
Option 2 ID : 75189726117
Option 3 ID : 75189726119
Option 4 ID : 75189726120
Status : Answered
Chosen Option : 4
Q32 A device of 30 W is connected to a 12 V battery. The current in the device is:
Ans X1 125A
2 25A
K3 04A
K4 02A
Question ID : 7518976718
Option 11D : 75189726870
Option 2 ID : 75189726869
Option 3 ID : 75189726871
Option 4 ID : 75189726872
Status : Answered
Chosen Option : 2
Q33 v wry wAS F v, F@wE F gost AR Afyerst w1 Reer F@ ger e
Ans
x 1. Afgenat 7 o g
v 2 gest 3R Afgemst #r s wEa
X TETHT § HOF I
2
X 4. TENT ¥ i Afgeme
Question ID : 7518974417
Option 11D : 75189717667
Option 2 ID : 75189717665
Option 3 ID : 75189717668
Option 4 ID : 75189717666
Status : Answered
Chosen Option : 2
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Q34 Frdare 2022 # TS, 353 WY 5% feT A =1 BT 75T (theme state) Fia 7T UT?

Ao g 3R weER

x 2. ghamom

XK 3. JITEATT
X 4. T
Question ID : 7518977469
Option 1 ID : 75189729873
Option 2 ID : 75189729876
Option 3 ID : 75189729874
Option 4 ID : 75189729875
Status : Answered
Chosen Option : 1
Q.35 The focal length of a convex mirror is 15 cm. Following New Cartesian Sign Convention, its centre of curvamire is
located at:
Ans 1. 30cm
X2 —15cm
X3 15cm
X4 =30cm
Question ID : 7518976580
Option 11D : 75189726319
Option 2 ID : 75189726318
Option 3 ID : 75189726317
Option 4 ID : 75189726320
Status : Answered
Chosen Option : 3
Q.36 If the volume of a cylinder is 256 cm® and the radius of its base is 8 cm, then find the height of the cylinder.
Ans 1. 4cm
A2 5cm
A3 6cm
A4 3cm
Question ID : 7518975972
Option 1 ID : 75189723886
Option 2 ID : 75189723887
Option 3 ID : 75189723888
Option 4 ID : 75189723885
Status : Answered
Chosen Option : 1
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QY7 G & @ Wi T WK AR TR FEw & §9 guey S afEer Hee 22
A X1 e arde
X 2. ATy

X3 UesHEA
v 4 TR AGFT

Question ID : 7518977287
Option 1 1D : 75189729145
Option 2 ID : 75189729146
Option 3 ID : 75189729147
Option 4 ID : 75189729148
Status : Answered
Chosen Option : 2

Q.38 Rt 3vg 7 UF HeTH aUVT F WHA SHST PR g0 ¥ SR i (2f) T @ e d) At
_ ghwEwEm

Ans >4 §
<2 4f
~< 3 1.5f
4 2f

Question ID : 7518976595
Option 11D : 75189726377
Option 2 ID : 75189726380
Option 3 ID : 75189726378
Option 4 ID : 75189726379
Status : Not Answered
Chosen Option : --

Q.39 Taya, from point A, walks 349 m towards the south. She takes a left turn and walks 129 m. She takes a left turn again

and walks 349 m. She then takes a right turn and walks 94 m to reach point B. How far and in which direction is point A
from point B? (All turns are 90 degree turns only)

Ans 1. 110 m, East
/2. 203 m, East
« 3. 223 m, West
K 4129 m, West

Option 11D
Option 2 ID

Option 4 ID

Chosen Option

Question ID :
1 75189730789
1 75189730790
Option 31D :
1 75189730791
Status :
13

7518977698

75189730792

Answered
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Q.40 fw srv Fua F MU W), 9N ey Peer v ¥ s e @ e e F ame W w37

FUA:-M>D<N<J<F=E

Ans X1 F < M
X2 M >N
+3N<E
X4E=D

Question ID : 7518974761
Option 1 ID : 75189719042
Option 2 ID : 75189719041
Option 3 ID : 75189719043
Option 4 ID : 75189719044
Status : Answered
Chosen Option : 3

Q41 Fers 2022 # siwwsT g TRE ToET SRE-TE Rdww, 2021 TeEfEE § @ e o S R
o drfers @ AR F F T FET 82

AN X 1. odr-Eifter wer e ST (ADAI)
v 2. FeTeer TEr-SIReT v (NADA)
X 3. TS FAAT THAT (ADNA)
X 4 SfETer TA-SIeT vadr (IADA)

Question ID : 7518976775
Option 1 1D : 75189727097
Option 2 ID : 75189727098
Option 3 ID : 75189727100
Option 4 ID : 75189727099
Status : Not Answered
Chosen Option : --

Q.42 s, wrar AT FTgd Fr A F I 50 6 0 3§ A 3 AT g 42 79§, A 7 F 3y A
EUE

Ane X145
K2 27 a§
X3 35 I
¢4 B4 9§

Question ID : 7518975939
Option 1 1D : 75189723755
Option 2 ID : 75189723754
Option 3 ID : 75189723753
Option 4 ID : 75189723756
Status : Answered
Chosen Option : 4
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P o) TP o Y L,

Q.43 e ’
AT 3TF iy & 39EeT Fer o =mar B
Ans ¢
X1 gaA-TAAT IHEET & F A
X2 T8 gEfE W W & & v
X3 el ga & e
v 4 T g & o
Question ID : 7518973486
Option 1 ID : 75189713944
Option 2 ID : 75189713941
Option 3 ID : 75189713942
Option 4 ID : 75189713943
Status : Answered
Chosen Option : 2
Q.44 feam S, AT FE ToT S W WS WAt F T ToT FAH F FAH FG Al @
T F T AT A gl ¥ 9 # swds P, i 9 AT 9 w1 e Al
Hai 'am% P
Delhil |
30%|
Bihar
28%
Gujarat
11%
[@est : Delhi - f&eel, Gujarat - I, Bihar - @R, UP - I, Haryana gRamon]
foeell & 9TE A T A B WET F WIS JeaW@E F g HOT HAAT 87
Ans 51 400
<2.100.8°
v3108°
K4.32.4°
Question ID : 7518977776
Option 11D : 75189731103
Option 2 ID : 75189731102
Option 3 ID : 75189731104
Option 4 ID : 75189731101
Status : Answered
Chosen Option : 3
Q.45 zz Tmat = aifma 8 ¥ R v2w wEw A 2 ¥ e Ber o § & 59 veR ae Tendt &
AT TE # Awa a9 ST
Ans 10
X2 8
3 4
X486
Question ID : 7518976109
Option 1 ID : 75189724436
Option 2 ID : 75189724433
Option 3 ID : 75189724435
Option 4 ID : 75189724434 @Teacningninia in
Status : Answered
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Q46 3z Fmar 1 Tua FfEw, AR Ao F g REa (7) F TuE 9T e

11, 20, 23, 44, 47, 92, 95,7

Ans X 1198
2 188
<3199
<4 189
Question ID : 7518977384
Option 11D : 75189729534
Option 2 ID : 75189729535
Option 3 ID : 75189729536
Option 4 ID : 75189729533
Status : Answered
Chosen Option : 2
Q.47 Seventeachers A, B, C. D, E, F and G are sitting in a straight row, facing north. Only one person sits o the left of G.
Only E sits between C and F. A sits to the immediate right of D. F and D are imunediate neighbours, Who sits at the
extreme left end of the row?
Ans 10 A
X2 D
X3 C
4 B
Question ID : 7518977583
Option 11D : 75189730329
Option 2 ID : 75189730332
Option 3 ID : 75189730331
Option 4 ID : 75189730330
Status : Answered
Chosen Option : 4
Q.48 If X represents the smallest prime number multiplied by 4 and added to the least common multiple of 5 and 10; Y
represents the smallest odd prime number multiplied by 5 and added to the 274 gmallest odd prime, then which of the
following is true?
Ans % 1. X and Y are equal.
+ 2. The difference of Y and X is 2.
K3 X+Y=10.
X 4. X s greater than Y.
Question ID : 7518975582
Option 1 ID : 75189722327
Option 2 ID : 75189722328
Option 3 ID : 75189722326
Option 4 ID : 75189722325
Status : Answered
Chosen Option : 2
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Q49 g Ffaure & seT IV A & enfder #ifee wdeal & gor wEa e €7
Ans X113

X214

3 11

X412

Question ID : 7518977553
Option 1 1D : 75189730211
Option 2 ID : 75189730212
Option 3 ID : 75189730209
Option 4 ID : 75189730210
Status : Answered
Chosen Option : 3

Q.50 Which of the following technologies was used for the first time in February 2022 by astronomers from NCRA-TIFR to
map the distribution of atomic hydrogen gas in the galaxy?

Ans  5C 1. INSPIRESAT-1
+ 2. Giant Meter wave Radio Telescope (GMRT)
« 3. Helioswarm

# 4. Multislit Solar Explorer (MUSE)

Question ID : 7518977157
Option 1 1D : 75189728627
Option 2 ID : 75189728625
Option 3 ID : 75189728628
Option 4 ID : 75189728626
Status : Not Answered
Chosen Option : --

Q51 = ZefiS 7 o FUEUT (water harvesting) EET $T TEA ST

g— Catchment
area .
Khadin or cropped area bund Shallow

dugwell

!

Saline area

Ans

X 1. &gl (Kattas)

X2 &F (Tank)

X 3. gumr (Bandharas)

v 4 @ifed 98Td (Khadin System)

Option 1 ID : 75189718741
Option 2 ID : 75189718744

Question ID : 7518974686 |

Option 3 ID : 75189718742 @ x o w w
Option 4 ID : 75189718743 Teaclllnglllnla.ln

Status : Answered




Q.52 v Fx ww AFTT g F v RE gfr # 30 km/h Fr W & 77 w8, s 9w gl 20 kb F

o & w R § R F 4 62 e g 5w A
Ans X 1. 95 km

+ 290 km

<3 30 km

<4 80 km

Question ID : 7518975896
Option 11D : 75189723584
Option 2 ID : 75189723583
Option 3 ID : 75189723581
Option 4 ID : 75189723582
Status : Answered
Chosen Option : 2

Q.53 When the terminal phosphate linkage in ATP is broken using water, what is the amount of energy released?

Ans  X'1. 32.5 kJ/mol
<233 kI/mol
< 3. 32 kI/mol
+ 4. 30.5 kI/mol

Question ID : 7518974536
Option 11D : 75189718143
Option 2 ID : 75189718144
Option 3 ID : 75189718142
Option 4 ID : 75189718141
Status : Answered
Chosen Option : 1

O 2k — 2VBx + 3 = 0 F FE F T

Ans 31 _9fE
X2 542
X3 _m
¥ 4 /10

gl

Question ID : 7518975959
Option 1 ID : 75189723833
Option 2 ID : 75189723835
Option 3 1D : 75189723836
Option 4 ID : 75189723834
Status : Answered
Chosen Option : 1
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Q55 oot Rl F acafw w9 F A @ 2 TeaT B
Ans oy ﬂ-?'J-TE.’I'EI-TI'Q-THT

X2 TEa HET

<3 T S

X4 T FET

Question ID : 7518974468
Option 11D : 75189717869
Option 2 ID : 75189717871
Option 3 ID : 75189717870
Option 4 ID : 75189717872
Status : Answered
Chosen Option : 3

O Brr F ¥ B 78 @ ST T e FmEr 22
Ans o1 T

v aheradr

X3-F—|Tf|'q’r

X 4 grer

Question ID : 7518977545
Option 1 ID : 75189730177
Option 2 ID : 75189730180
Option 3 ID : 75189730179
Option 4 ID : 75189730178
Status : Answered
Chosen Option : 2

Q.57 frm & & St @ o, g 3R R ESE a9 g 3k &, S ot et i Siear gEn S
Eicil-

Ans X 1. HeTOTeaH
« 2. R
X3 gfier
X 4 e

Question ID : 7518977483
Option 1 1D : 75189729930
Option 2 ID : 75189729929
Option 3 ID : 75189729932
Option 4 ID : 75189729931
Status : Not Answered
Chosen Option : --
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Q.58 Consider the below statements and identify the correct answer.

Statement-I: The p in pH stands for ‘potenz’ in German, meaning power.

Statement-II: On the pH scale we can measure pH generally from O to 16.

Ans s 1. Statement-I is true, and Statement-II is false.
< 2. Both the statements are true.
X 3. Statement-I is false, and Statement-II is true.
# 4. Both the statements are false.
Question ID : 7518973631
Option 1 1D : 75189714523
Option 2 ID : 75189714521
Option 3 ID : 75189714524
Option 4 ID : 75189714522
Status : Answered
Chosen Option : 1
Q.59 In this question, a group of letters is coded using numbers as per the table given below and the eonditions which follow.
The correct combination of codes following the conditions is your answer.
e [ o [ o Jo e [e |y |
Code [ 4 [8 [o |1 [3 [5 [7 [9 |
Conditions:
(i) If the first element is a vowel and the last, a consonant, the codes for these two (the first and the last elements) are to
be interchanged.
(ii) If the first element is a consonant and the last, an vowel, the first and last elements are to be coded as 2.
(iil) If the middle letter is a vowel, then it is to be coded as 6.
Question: DRIVE
Ans X 1. 31967
<2 31679
<3 21492
4 21692
Question ID : 7518977362
Option 1 ID : 75189729448
Option 2 ID : 75189729446
Option 3 ID : 75189729445
Option 4 ID : 75189729447
Status : Answered
Chosen Option : 4
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O oftg A wew ST ¥ 5 Tew § T ¥
Ans 1 JTSTEUITS

X2 FAeF g&ar
X3 TS
X4 TedTdIg
Question ID : 7518977533
Option 11D : 75189730129
Option 2 ID : 75189730132
Option 3 ID : 75189730131
Option 4 ID : 75189730130
Status : Answered
Chosen Option : 1
Q.61 zw famew &1 =@ Fifore, fomesr TeE T & @ T €, S gul En w1 oOgeT e @ g A
Stelt FET @ Al T @ g
13:234::9:126 2177
Ans x 1. 98
<2 106
<3 126
4 84
Question ID : 7518977396
Option 1 1D : 75189729582
Option 2 ID : 75189729584
Option 3 ID : 75189729581
Option 4 ID : 75189729583
Status : Answered
Chosen Option : 4
Q.62 Ina parallelogram PQRS, the bisectors of consecutive angles of P and Q intersect at T. What is the measure of ZPTQ?
Ans x 1. 500
a
X2 80
a
+ 3 90
a
X470
Question ID : 7518976381
Option 1 ID : 75189725521
Option 2 ID : 75189725522
Option 3 ID : 75189725524
Option 4 ID : 75189725523
Status : Answered
Chosen Option : 3
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Q63 Which mineral is required for the formation of the hormone thyroxin?
Ans X 1. Tron

X 2. Calcium

+ 3 Todine

# 4. Potassium

Question ID : 7518974367
Option 1 ID : 75189717465
Option 2 ID : 75189717467
Option 3 ID : 75189717466
Option 4 ID : 75189717468
Status : Answered
Chosen Option : 3
Q64 Which of the following is NOT a property of similar triangles?
Ans X 1.
Ratio of areas of two similar triangles = Ratio of squares of corresponding segments obtained by corresponding angle
bisectors.
X2
Ratio of areas of two similar triangles = Ratio of squares of comresponding medians
x 3.
Ratio of areas of two similar triangles = Ratio of squares of corresponding altitudes
" 4.
Ratio of areas of two similar triangles = Ratio of corresponding segments obtained by corresponding angle bisectors.
Question ID : 7518975990
Option 1 ID : 75189723959
Option 2 ID : 75189723958
Option 3 ID : 75189723957
Option 4 ID : 75189723960
Status : Answered
Chosen Option : 4
Q.65 Each of the digits in the number 26397145 is arranged in ascending order from left to right. The position of how many
digits will remain unchanged as compared fo that in the original number?
Ans X1 2
X273
< 3. None
@4 1
Question ID : 7518975097
Option 11D : 75189720387
Option 2 ID : 75189720388
Option 3 ID : 75189720385
Option 4 ID : 75189720386
Status : Answered
Chosen Option : 4
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Hegoa P, 3N R T BeFest F ¥ 3@ g H @A RS, S @eT gIat

s AT F T 7 3
& THEA IF F I FT gl
LUN: PXP
WXP: AAR
Ans 1 NIB: RLD
<2 TIN: XLQ
<3 NOT: RQV
x4 JUG: NYJ
Question ID : 7518975057
Option 1 ID : 75189720228
Option 2 ID : 75189720226
Option 3 ID : 75189720227
Option 4 ID : 75189720225
Status : Answered
Chosen Option : 1
Q.67 ws =rg w1 T HEw 71,200 ¥l gEHER F H AEE H HAA: 10% T 5% H & wEF ge vam
TS A 77 75 W AEm W wdEr
Ans X 121,206
<2 31,602
<3 21,062
« 4 31,026
Question ID : 7518975832
Option 1 ID : 75189723326
Option 2 ID : 75189723328
Option 3 ID : 75189723325
Option 4 ID : 75189723327
Status : Answered
Chosen Option : 4
Q.68 An object is placed on the principal axis of a lens of power —10 D, at a distance of 15 ¢cm. The image formed is
Ans X' 1. virtual and inverted
X 2. preal and inverted
+ 3 wvirtual and erect
# 4. real and erect
Question ID : 7518976639
Option 1 1D : 75189726555
Option 2 ID : 75189726556
Option 3 ID : 75189726553
Option 4 ID : 75189726554
Status : Not Answered
Chosen Option : --
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Q.69

The given table shows the number of candidates who appeared for the interview and the number of candidates who got

selected for the post of Assistant Professor in XYZ university, from different states over the years. Study the table and

answer the question.

ear | 2020 2021 2022
Selected Selected Selected

State

A |1200 800 1500 700 1800 1000

B | 1500 600 1600 500 2000 1120

< 2000 680 2200 200 1800 1100

D 1600 700 1500 950 1800 1200

E |1500 490 1100 400 1300 800

In the year 2020, the total number of candidates who got selected from different states is approximately what percentage

of the total number of candidates who appeared for the interview from different states in the same year?

Ans X 1. 55%
K 2. 455%
K 3. 50%
4 41.9%
Question ID : 7518977781
Option 1 ID : 75189731122
Option 2 ID : 75189731121
Option 3 ID : 75189731123
Option 4 ID : 75189731124
Status : Answered
Chosen Option : 4
Q.70 . : N .
SRiEes Eg gdw & e & fge =wor TuiRa e aw 82
Ans 71 =TT
X2 o
X d=T
X 4. a—
Question ID : 7518974019
Option 11D : 75189716075
Option 2 ID : 75189716076
Option 3 ID : 75189716074
Option 4 ID : 75189716073
Status : Not Answered

Chosen Option :
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Q.71 Select the set in which the numbers are related in the same way as are the numbers of the following sets.
(NOTE : Operations should be performed on the whele numbers, without breaking down the numbers into its
constituent digits. E.g. 13 — Operations on 13 such as adding / subtracting /multiplying etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed)
(21,225,9)
(4,25,6)
Ans 1. (13,81, 6)
X2 (15,54,3)
X3 (11, 18,7)
¥4 (14,64,2)
Question ID : 7518977738
Option 1 1D : 75189730950
Option 2 ID : 75189730952
Option 3 ID : 75189730949
Option 4 ID : 75189730951
Status : Not Answered
Chosen Option : --
Q.72 23 5 1757 = fafer $v sftr &t & 5ot @ Tow g2 & e & 7 W fovias 9 afew $
ofr?
Ans
<1 "Ellllalé, Cal Ilaa
v 2. SATEN F T
X3 TFE F IE
K 4. BWHIel bl ﬂﬁ'
Question ID : 7518973991
Option 1 ID : 75189715963
Option 2 ID : 75189715964
Option 3 ID : 75189715961
Option 4 ID : 75189715962
Status : Answered
Chosen Option : 2
Q.73 The position of how many letters will remain unchanged if each of the letters in the word *‘CONFIRM is arranged in
alphabetical order?
Ans X 1. None
« 2. One
/< 3. Three
X4 Two
Question ID : 7518977655
Option 11D : 75189730617
Option 2 1D : 75189730618
Option 3 ID : 75189730620
Option 4 ID : 75189730619
Status : Answered
Chosen Option : 2
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Q.74

Ans

few v 3mw & coEE sewEs fifew, d 9 AT T F 5w
afew Rffes samit & & o5 F=e sl S wEar & ani gl

<oBeds

4 45

Sofas 2>
Sces

16 15

L

¥ fgsr T (sofas) & S AT & 9T (beds) & ar & ==@E (mats) &

V117
X2 22
X310
X412

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 ID :

Status :

Chosen Option :

7518977321
75189729283
75189729281
75189729284
75189729282
Answered

1

Q75 1dentify the goods whose demand falls due to the fall in their price.

Ans

« 1. Giffen goods

# 2. Normal goods
X 3. Inferior goods
X 4. Substitute goods

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518977215
75189728859
75189728857
75189728858
75189728860
Answered

3
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Q.76 As long as marginal utility of a commodity is . an individual will always prefer more of that commodity.

Ans X 1. negative

X 2. fluctuating

#« 3. constant

+ 4. positive

Question ID : 7518974240
Option 1 ID : 75189716957
Option 2 ID : 75189716960
Option 3 ID : 75189716959
Option 4 ID : 75189716958
Status : Answered
Chosen Option : 3
Q77 g & el g wa (FeEst) deent § Geafafae § @ #F O soan S w9
Ans x 1. ﬁ ﬁ r
X 2. @fAg 3maraT (Restricted imports)
X 3.
HFET e SR agueia a7 (International cooperation and multilateral mechanism)
v 4 AT gfaruTad
Question ID : 7518977242
Option 1 ID : 75189728965
Option 2 ID : 75189728967
Option 3 ID : 75189728968
Option 4 ID : 75189728966
Status : Answered
Chosen Option : 1
Q78 Oxygen has electrons in its outermost shell.
Ans X1 8, M
2 6,L
X3 8K
K4 6,M
Question ID : 7518973548
Option 1 ID : 75189714189
Option 2 ID : 75189714190
Option 3 ID : 75189714191
Option 4 ID : 75189714192
Status : Answered
Chosen Option : 2
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Q.79 frwfafea & & Fowr 1947 TR 100 o Rfvwds dRw=RT 2022 # 84 ar o Rfwss @

e ST ar?

1. Oehal HTZSTON
X2 g For

X 3. g fcdarer

x4 afeeT Fgar

Ans

Question ID :

Option 11D

Option 21D :

Option 3 ID

Option 4 ID :

Status

Q.80 frw arw waEROT # fb & HEUTE % T TR w6 & TR G0 dgted 8 Seen?

7x10+6+3-2=10

Ans X 1.8, 10
X226
3 3,7
X438

¥ 10201 & AT AT AT
Ans  %1.10.1

2101

+ 3 1.01

x4.1.02

7518977436

: 75189729743
75189729744
1 75189729741
75189729742

: Answered
Chosen Option :

1

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518977762
75189731047
75189731046
75189731045
75189731048
Answered

3

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

7518975560
75189722237
75189722240
75189722238
75189722239
Answered

3
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Q82 The power of a convex lens of focal length 40 cm is

Ans

Q.83

Ans

Q.84

Ans

& teachingninia.in

« 1. 25D
X2 25D
X3 —025D
X4025D
Question ID : 7518976637
Option 1 ID : 75189726547
Option 2 ID : 75189726548
Option 3 ID : 75189726546
Option 4 ID : 75189726545
Status : Answered
Chosen Option : 2
Eight classmates J, K, L. M, N, O, P and Q were sitting around a circular table, facing the centre. They were equidistant
to one another. N was sitting fourth to the left of L. P was sitting fourth to the left of J. O was sitting to the immediate
right of N. K was sitting second to the left of P. Only J was sitting between L and M. Which classmate was sifting fourth
to the left of M?
« 1. Only Q
<2 Only O
# 3. EitherKor O
X4 OnlyK
Question ID : 7518977576
Option 1 ID : 75189730301
Option 2 1D : 75189730303
Option 3 ID : 75189730304
Option 4 ID : 75189730302
Status : Not Answered
Chosen Option : --
Which of the following is a displacement reaction?
(i) ZnCOj (s) —ZnO (s) + CO, (g)
(i) Fe (s) + CuSOy(aq) —FeS0Oy4(aq) + Cu(s)
(i) 2Hy (g) + Oz (g) — 2HO(l)
(iv) CaCOj3 (s) — CaO(s) + CO, (g)
o 1. (i)
K3 (iv)
XK 4. (iid)
Question ID : 7518973585 |
Option 1 ID : 75189714338
Option 2 ID : 75189714337
Option 3 ID : 75189714340
Option 4 ID :

—~ .

75189714339



Q.85 Avessel is one-fourth full of water. After adding 10 cups of water to it, the vessel gets three-fourth full. Find the

Ans

capacity of the vessel in cups.
X122
X2 25
3 20
X4 27

-

Question ID : 7518976138
Option 1 1D : 75189724550
Option 2 ID : 75189724551
Option 3 ID : 75189724549
Option 4 ID : 75189724552
Status : Answered
Chosen Option : 3

Q.86 o= fafesa FT aor &, 'SUPERIOR' & 'SNHSDQTT' 3R 'STUNNING' &' 'HOHOOTUT frar el

Ans

#1 =% gz s # 'STRATEGY' &1 g sy TR smeem?
1. ZHCUZSUT
X2 ZHDUASUT
<3 TUSZUDHZ
« 4 ZHDUZSUT

Question ID : 7518977674
Option 1 1D : 75189730696
Option 2 ID : 75189730694
Option 3 ID : 75189730693
Option 4 ID : 75189730695
Status : Answered
Chosen Option : 4

Q.87 ¢, J, H,Q}ﬁxwﬁwgmw,iﬁtmﬁﬁmaﬁm-mmﬁmmgmHw.lﬂ
m,mwﬁmmm?|waﬁmmmﬁwmmgmcﬁmmm

Ans

T gul e # @ Rl e A W g
« 1. Q
x2J
X3 W
X4 H

Question ID : 7518977337
Option 1 1D : 75189729345
Option 2 ID : 75189729347
Option 3 ID : 75189729348
Option 4 ID : 75189729346
Status : Answered
Chosen Option : 1
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Q.88 ofy 2 deumit ¥ Fgeds FAMEAF (HCF) 3R ogeas FaMaed (LCM) waer: 7 3K 245 ¥ & 3o

Ans

Q.89

Ans

Q.90

Ans

ToEES A AT
X 1. 1517
v 21715
X3 1175
< 41751
Question ID : 7518975818
Option 1 1D : 75189723270
Option 2 ID : 75189723269
Option 3 ID : 75189723271
Option 4 ID : 75189723272
Status : Answered
Chosen Option : 2
Consider the statements below and identify the correct answer.
Statement-I: Isotopes of all elements posed a challenge to Medeleev’s periodic law.
Statement-II: No fixed position can be given to hydrogen in the periodic table.
< 1. Statement I is correct, Statement II is incorrect.
# 2. Both statements are incorrect.
X 3. Statement II is correct, StatementI is incorrect.
+ 4 Both statements are correct.
Question ID : 7518973715
Option 1 1D : 75189714857
Option 2 ID : 75189714860
Option 3 ID : 75189714858
Option 4 ID : 75189714859
Status : Answered
Chosen Option : 4
Six friends, G, H. I, J, K, and L have marriage anniversaries in different months of the same year viz. January, March,
July, August, September and December but not necessarily in the same order.
H has an anniversary immediately after K. Only I has an anniversary before G. T has an anniversary in September. Who
among them has an anniversary in December?
X1 H
X2 G
«3 L
X4 K
Question ID : 7518977596
Option 1 1D : 75189730382
Option 2 ID : 75189730383
Option 3 ID : 75189730381
Option 4 ID : 75189730384
Status : Answered
Chosen Option : 1

@ Teachingninja.in



Q.91 Consider the following statements about an electric generator:

Ans

Q.92

Ans

(a) After every half rotation, the current in the respective arms of the coil reverses its direction.

(b) The direction of the induced current in the coil can be found using Fleming’s right-hand rule.

‘Which of the above statements is/are correct?

+ 1. Both (a) and (b)

< 2. Only (b)
< 3. Only (a)

< 4. Neither (a) nor (b)

1
tan &

X1 cos@sech

K2 rosec@cot@

tan @ +

# 3. cosec@sinf
« 4 cosec B secH

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 ID :

Status

7518976748

75189726990
75189726992
75189726991
75189726989

: Not Answered
Chosen Option :

FT AT AT RS0

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :
14

Chosen Option

7518975998
75189723989
75189723992
75189723991
75189723990
Answered

Q.93 ©w v Fr 719,50,000 F F=er 9 ARF Fr 20% Fr @ B ¥ 20% W 9T FT F BT I

Ans

welie & B Hed T a9 afge?

« 1. 329,25,000
2. 325,95,000
3. 322,50,000
#4.%21,00,000

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :
Status :

Chosen Option :

7518976078
75189724312
75189724311
75189724310
75189724309
Answered

1
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Q.94 starting from point X, Aditya walked 30 m towards the south. He then took a left turn and walked 20 m. Then, he took a

Ans

Q.95

Ans

Q.96

Ans

right turn and walked 10 m. He then took another right turn and walked 40 m. Finally, he took one last right turn and
walked another 40 m to reach point Y. How far and in which direction is point X from point Y ? (All turns are 90 degree
turns only)

/1. 40 m, West
« 2. 20 m, East
2 3. 40 m, East

A 4. 20 m, West
Question ID : 7518975037
Option 11D : 75189720148
Option 2 ID : 75189720145
Option 3 ID : 75189720147
Option 4 ID : 75189720146
Status : Answered
Chosen Option : 4
B, C, D, E. F and G are six team members who joined a team on different days of the same month, viz. 2nd, 4th. 5th,
8th, 10th and 11th of JTanuary.
C joined on one of the days before F, E and G. B joined immediately before F. D joined immediately before C. E joined
on one of the days after B and before G. Who joined the team on 10th of January?
X1 B
X2 F
3 E
X4 G
Question ID : 7518974916
Option 11D : 75189719663
Option 2 1D : 75189719661
Option 3 ID : 75189719664
Option 4 ID : 75189719662
Status : Answered
Chosen Option : 4
Consider two wires, A and B, of same thickness but lengths L and 4L, respectively. If the resistances of A and B are 0.5
Q and 2.0 £, respectively, the ratio of the resistivity of A to the resistivity of B is:
1
x1. =
2
1
X2 =
4
31
X4 4
Question ID : 7518976677
Option 1 ID : 75189726706
Option 2 ID : 75189726705
Option 3 ID : 75189726707
Option 4 ID : 75189726708
Status : Answered
Chosen Option : 2
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Q97 Find the volume of a sphere whose diameter is 42 m.

Ans

Q.98

Ans

Q.99

Ans

al®xb™ " xe™?

X 123437 m?
X2 42,137m3
« 3 38,808 m°

X4 13416 m?

T F O oA grar 2

1. 83%
+ 2. 95%
~<3 68%
x4 T79%

FT HIGpd F9 A HIHT

a 3xb%xcd
V1 a"xb?xc"?
X2 g3 xb? xc?
X3 aSxb?xc?
Ka a>xb?xce™?

Question ID : 7518975751
Option 1 1D : 75189723002
Option 2 ID : 75189723004
Option 3 ID : 75189723001
Option 4 1D : 75189723003
Status : Answered
Chosen Option : 3

Question ID : 7518974393
Option 1 1D : 75189717571
Option 2 ID : 75189717572
Option 3 ID : 75189717569
Option 4 ID : 75189717570
Status : Answered
Chosen Option : 3

Question ID : 7518975558
Option 1 1D : 75189722229
Option 2 ID : 75189722230
Option 3 ID : 75189722231
Option 4 ID : 75189722232
Status : Answered
Chosen Option : 1
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Q.100 Refer to the following number series and answer the question.

53682632803856725096

How many such odd numbers are there each of which is immediately preceded by an odd number and immediately

followed by an even number?

Ans X 1. None
« 2. One
2 3. Three
X4 Two

QP HTML Generated date 2022/09/11-11:17:49

Question ID :
Option 11D :

Option 2 ID

Option 4 ID

7518977662
75189730645

1 75189730646
Option 31D :

75189730648

1 75189730647
Status :
Chosen Option :

Answered
2
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